Pﬂm INSTALLATION TEMPLATE 999-00403
LGP LY FOR RIM EXIT DEVICE MODEL: UH40010

The Professional’s Choice

3 ¢
A. RIM DEVICE ON . B. RIM x RIM x MULLION I3-516" 3-5016"!
SINGLE DOOR N ON PAIR OF DOORS ARG
A stock door backset of 2-3/4" can be 2156, . If KRM Mullion is being used,install @‘-‘ 1" )
used but will decrease the backset by KRM mullion first, then outside trim { DOOR ! ” I DOOR \
3/16", this can be offset by not using adjusting backset according to KRM I [o F Mo | |
the 1/8" strike shim to gain 1/8" extra Mullion backset drawing and then | < }IE I\ — |
clearance. This will bring the backset install exit device. ' ‘ | ~—T \uLLion
within 1/16" which is within acceptable ! ol !
tolerances to operate correctly. L

|
2-7/16"  2-7/16"

WARNING: IF THIS RULER DOES NOT MEASURE L L
EXACTLY, DO NOT USE THIS TEMPLATE. 0 1 2

FRAME STOP or EDGE OF MULLION

T o

o
3-25/32"
Y
_I_
174" [\
/0
Refer to Door Preparation notes

before drilling these holes
A 9

ROLLER _ A /L(/
STRIKE
¢

1-1/4" drilled 1/4" above centerline for
rim cylinder, Finger Pull, UH40011

Y

2-1/8" for KIL Trims.

T

4-21/64"—25/32"

CENT‘SR LINE :—E

Note:

Hole must be
drilled per trim
template, refer
to trim template.

Note:

For mounting
end cover.

2-7/16" - /\/\/B\/\/L’

Inside face of the door

A
\

40" Above floor

Door Preparation for Outside Trim installations:
(A) Mark and drill holes on outside door face according to trim template.
(B) Mark and drill holes for End cap mounting bracket and roller strike per door preparations listed below.

. . . . \
Door Preparation for Exit Only installations: '
Drill & tap for (6) 1/4"x20 machine screws for exit device and drill & tap for (3) 1/4"x20 machine screws for roller strike.

Optional fasteners:
Drill (6) 3/16" pilot holes for self tapping machine screws or wood screws & drill (3) 3/16" pilot holes for self tapping
machine screws or wood screws for roller strike.

©2015 Hampton Products International Corp. ® 50 Icon, Foothill Ranch, CA 92610-3000 USA e www.universalhardware.com e 1.877.701.7837 e 999-00403_REVA 08/15




